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aRa did arts . . . .

Equivalence classes :

Ea={ a ,b
,

c }

Ed=fd }

So R
' '

partitions
"

set S .

- { a.b.c.cl} Win two disjoint subsets
.



Preposition Different Equiv. classes are disjoint .

If Ex and Ey are equiv .
classes for

eg
retn ~
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then E×nEy=0or Ex=Ey .
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we 're done !
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Can  show Ex c Ey and D- This diagram in book

Esc Ex  which means E×=Ey ,

is misleading !

Suppose ZE Ex .

Then Z~×~w~y ( bk we Ex and we Ey)
.

By transitivity
, z~y ⇒ ZEEY ⇒ Ex C Ey .

( Eyc Ex similar )



DEI A partition of a set S is a collection P
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E± Assigning 6th graders to soccer teams

(a) says everybody is on a team

(b) says no  student  on two different teams
.



keyidea Equivalence Classes Form a Partition

Any EH x in a sets with
eg

.

rein ~ belongs to an
eg

class ( Ex )
,

and the classes are disjoint (Prop'n )

E± S = UMN Students
, xRy⇒ x

, y born in same year
R is an equiv . relh (

you
check)
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Easy = { people born in 1994 }

E
Piss

 = { - " - 1995 }
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,
Eao , 6 } form a path  of student body .



Thm 2.2.17
.

(a) If S has eg rehn R
,

the
eg

classes form

a part
 

in of S
.

(b) If P is a portion of S
,

the relation

× Ry a x
, y are in same set  of part 'm

is an equivalence relation
.
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